o o Al

A

= o
20228 204 et SEHINLSESH &
2M: 83
g FH=2CMS
Sl BAINEAL HE(NUE +FHLSEA) CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 10,869,779 10,703,059 166,720
= 4,782,000
J| 4,488,079
s 1,599,700
FE =2 AY 9,490,355 9,196,231 294,124
= 4,782,000
J| 3,215,020
[ia 1,493,335
SAIIZANLE E5(2z2 +FNLSEIA) 6,337,001 6,184,309 152,692
= 4,782,000
J| 1,226,600
[ia 328,401
g2h ¥ S22l =gits XA 140,000 70,000 70,000
401 AIEHI L 2 CHYI 40,000 0 40,000
01 A& HI 40,000 0 40,000
OaYISELMlAE FHOE =3 A (
gols, Jjaots) 20,000,000 *2J4 2 40,000
402 RIZ2FXt20l ™ 100,000 70,000 30,000
01 2IZt Xt 2 AL E = (REM &) 100,000 70,000 30,000
O2aYlSELaMelAlE FHOE X3 A (

Eols, Jjaots) 50,000,000 *20H 2 100,000
IIE233HMAANE(HAANU X SAIE 2I2EE T 4,313,000 5,518,000 A 1,205,000
M)

= 3,840,000
J| 473,000

403 A X EHHSH20lA 4,313,000 5,518,000 A 1,205,000
= 3,840,000
J| 473,000

02 S 2S0CHet A = H 2 & Ar H 4,313,000 5,518,000 A 1,205,000

OOt H XAl XISHAIE & X (BTO)

4,313,000,000& =14 4,313,000
= 3,840,000
J| 473,000

HEQENZ AL 1,884,001 574,309 1,309,692
= 942,000
J| 753,600
s 188,401

401 AIEHI L 2CHEI 1,884,001 574,309 1,309,692
= 942,000
J| 753,600
[ia 188,401

01 A& Bl 1,877,218 570,000 1,307,218

OF&d IS ZE3A

1,884,000, 000& *99.64% 1,877,218
= 942,000
J| 753,600




2AM: 283
X

N 322N
Sl BAINZAM HE (MR 2FHLSLEN) CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
o 181,618
03 Al 2 THHI 6,783 4,309 2,474
OP& AZ&X ZHZA
1,884,000,000& *0.36% 6,783
BAJIZANE 22 (A2 +AHINLSLEIA) 2,676,895 2,548,617 128,278
J| 1,569,000
= 1,107,895
BAJZANER2YE XNE (2R & IS HMelAE)- 1,761,199 1,894,415 A 133,216
=&
J| 1,400,000
a 361,199
101 14l 4,908 3,179 1,729
J| 3,926
a 982
4 JI2ZtHZ22HEE = 4,908 3,179 1,729
ONESLHANE Y2 S ME=Y o2 4,908
—Jles 75,8003 »4H x 152 4,548
J| 3,638
a 910
— Sl 2,0003 x4H x 152 120
J| 96
[ia 24
— =24l 4,000 «4H « 15 240
J| 192
G 48
201 2ur2 Y| 601,072 649,436 48,364
J| 471,899
e 129,173
01 AP 22l 59,580 59,280 300
OE2LHUANL 29 L A=y 56,580
—ANE2ZZH 2,300,000 «12& 27,600
J| 13,121
i 14,479
— 2= 28,980
2 A Y| 60,0003 118 7,080
J| 5,664
a 1,416
- =& 60,0003 3652 21,900
J| 17,520
= 4,380
ON=EEEMeANE 22X XE=(GHEI, SF
a) =g 300,000& x5 #23| 3,000
J| 2,400
= 600
02 =24l 541,492 590, 156 A 48,664
O II=E=ELMIUAE HIAER
20,080,000 «12& 240,960




SN BAD
Ha: HZLRIMNY
BAINENE 2Y (WA 2EHLSHSN) (B9 ®R)

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 192,768
s 48,192
O=2%X™el JIHRKHI 260,000&*305 +12& 93,600
J| 74,880
s 18,720
ONsE=Hdel JIAS XY
320,000& x40& +12& 153,600
J| 122,880
[ia 30,720
O&IIHEUSE =5 1,246,300& =122 14,956
| 11,965
2 2,991
O2LMANE J2TG +48
37,375,800 x 14! 37,376
| 29,901
i 7,475
OXNSHZ AAEH |2l 1,000, 0002 = 1CH 1,000
| 800
s 200
202 oddl 9,600 9,600 0
| 7,680
[ia 1,920
01 = LH 4 1l 9,600 9,600 0
OSLYNESLHAYDEA(EH)
20,0003 x5 x96 9,600
| 7,680
s 1,920
206 M= Hl 293,619 346,200 A 52,581
| 234,895
i 58,724
01 MHZ 4l 293,619 346,200 A 52,581
Ox¥IIEE2aMess 7 146,000
— & 3HHI0l 400& *230,000kg 92,000
| 73,600
s 18,400
—Jtaatt 250& x200,000kg 50,000
| 40,000
s 10,000
—2&H 8,000& *500kg 4,000
| 3,200
[ia 800
Ox=Z24 & HEZH 4235 F¢ 2,650
— A EA Y 50,000& x10& %23 1,000
| 800
[ia 200
— X0+ 130,000& 58 650
| 520
s 130




2AM: 283
X

B gyLBeANY
tel: BHIZANE 2L (T =FINLEEFAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—T0C 23 LA 200,000& 53 1,000
J| 800
[ia 200
Ox=ZZANE R4 7Y 169
— 24 90,000 » 1+ A 90
J| 72
[ia 18
— 44 79,0003 *1&8F A 79
J| 63
fia 16
ON=E=dMelAE HUHAE 2 100,000
— O JFAE O TH 500& *14,000kg*43l 28,000
J| 22,400
[ia 5,600
—EHE MM 4,000% *4,500kg*4 3| 72,000
J| 57,600
e 14,400
O2=XMelAE HUAIE I 2L 44,800
— O AF 4 M 500& *8,000kg*4 3| 16,000
J| 12,800
s 3,200
— 248 M 4,000& *1,800kg*43l 28,800
J| 23,040
s 5,760
307 21201 A 562,000 486,000 76,000
bl 449,600
s 112,400
05 BIZHRIE 3 562,000 486,000 76,000
OMYZHIIZS |E HMeldl 562,000
—E&2 AgHdeltl(8x)
550, 000& x20E *23| 22,000
J| 17,600
2 4,400
— X ASHAHOIERE, 2h)
150,000& *300E+12& 540,000
J| 432,000
e 108,000
401 A& HIZ 2018 290,000 400,000 A 110,000
J| 232,000
s 58,000
01 A& HI 290,000 400,000 A 110,000
ON=E2a33XaAE &3 ME &X
20,000,000 » 14! 20,000
J| 16,000
i 4,000
ON=E2a33XaAd d2E DHSA
20,000,000 » 14! 20,000
J| 16,000




2N

23
o WILBRIMNY
SR BFIIEAL SY(NAR SHIHLSHH) EERED
SA - BAEH) - NRAY - LS 0l &k 24 il HRE2
= 7,000
ONE2=BZHAANE SHA RYEI DA
=)\ 20,000, 0002 * 14! 20,000
gl 6,000
2 4,000
Ok 2 IE2LTTHAANL 22 DT
A 40,000,0008 14! 40,000
ol 32,000
2 8,000
ON=Z2LZBH2ANE AT 20HEX
80,000, 0002 * 14! 80,000
ol 64,000
2 16,000
ONE2LTTHIANE SHE 01D 20
% 90,000, 0002 * 14! 90,000
gl 72,000
2 8,000
OBk 2 IE2EDIHAAANL HLAY AA
ER S 20,000, 000! #1244 20,000
gl 16,000
2 4,000
2o 2 242 16,800 17,000 A200
402 912t X2 0| B 16,800 17,000 A200
03 812t A R HI 6,800 7,000 A200
OlseuHel HEAX DEI(HAAL)
168,000, 0002 *10/100 16,800
BPIZANESY N (AAHD ABSK) 33,928 27,642 6,286
gl 29,000
2 4,928
101 @124 bl 23,928 22,642 1,286
g 20,000
a 3,928
04 JIAHIERSE 4 23,928 22,642 1,286
OUBEX HEXNY 212 23,928
—J123 75,8002 »42 «602 18,192
p] 17,192
2 1,000
—FE4g 75,800 *4% +g2 2,426
gl 426
2 2,000
— 2Ry 75,8008 542 «32 910
gl 910
~ D 2,000% +4% +602 480
p] 480
— Sl 4,000%! 42 x602 960
gl 960
—g3Resa 120, 0002 42 +23] 960
p] 32




2N

a2
B FYLVE MY
tel: BHIZANE 2L (T =FINLEEFAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 928
401 A& HIZ 201 I 10,000 5,000 5,000
J| 9,000
s 1,000
01 A& HI 10,000 5,000 5,000
AZEXN FAN2L(EL) 20,000& »500 m* 10,000
J| 9,000
s 1,000
BAJZANERY KNI (NAMEHSKR) 195,348 179,667 15,681
J| 40,000
e 155,348
101 14l 89,348 84,907 4,441
J| 40,000
i 49,348
04 JI12ZtHZ22HEE = 89,348 84,907 4,441
ONHMEISKE M= 2 89,348
—Jlas 75,8003 x 10«90 68,220
J| 40,000
e 28,220
—F5d 75,8003 x10H x12& 9,096
— g 75,8003 x 10 x4 3,032
— WSl 2,0003 x10H 90! 1,800
— =AM 4,0003 x10H 90 3,600
—HERES 120,000 10 =33l 3,600
201 YEt2 A H| 14,600 12, 160 2,440
01 At 22l 6,000 3,760 2,240
ONHMEHSXE 22 425 ¢
40,000 100K 4,000
ONHMEHSXE RoHASHIAHN EFH Xz
500,000 »2CHx2 2,000
02 2324l 8,600 8,400 200
OXNAMEHSIE MZE(O=I,&C2I)HY
=&l 1,600 x20¢ *5CH*20L 3,200
OXHAMEIS X2 AlEEH S22
250,000& 128 3,000
OXNHMESXE #IIe3 200,000& =122 2,400
202 O4dl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
OXNHMEHSX R X2l S8XNEH
20,0003 x1H »120 2,400
206 M= Hl 2,000 12,000 A 10,000
01 2l 2,000 12,000 ~10,000
ONCIMEISTIR 28 BN, SIIZHE S
-+ 40,000& 505 2,000




2M: 33
M FESDULAMY
Sl BAINZAL SY (MR 2FIHLSEEN) CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 87,000 51,000 36,000
01 Al&H| 87,000 51,000 36,000
ONHAMEISANR “SAIEE S HHIZ2A
250,000 *80m 20,000
ONHMEI SR SAHAESESAAE AIALY
15,000,000 =2CH 30,000
ONAMEIS AR ZHAIE HHIZ2AH
1,000, 000& %220 A 22,000
OXNAMEIS K& Adt=% HHI 3 A
100, 000& = 150m 15,000
HIEZANE2Y XN (AMXH 25X 53,928 70,642 N16,714
Jl 40,000
= 13,928
101 e1214| 23,928 22,642 1,286
J| 20,000
= 3,928
04 J|12ZtHIZ22NEES 23,928 22,642 1,286
OCEBSAX M==AY o2 23,928
- J22 75,800& x4 60 18,192
Jl 18,000
= 192
—F53E 75,800 *4H 8L 2,426
J| 2,000
= 426
—EXE 75,800& 4 x3L 910
— WEt| 2,000 x4H 60 480
— S Ad| 4 0002 x4 x50 960
—HAERd2 120,000& x4 H x23| 960
401 AlEHIZL 2 0HY| 30,000 38,000 A 8,000
J| 20,000
= 10,000
01 Al&H| 30,000 38,000 A 8,000
OPCZBEX 2Eel & “FAAEZE HHAY
200,000 x75m 15,000
J| 8,000
= 7,000
OZBEXN =& S X222 HUIALY
20,000& 750 15,000
J| 12,000
= 3,000
BEHIZANES2YE XN (24 225K) 615,692 359,251 256,441
J| 60,000
= 555,692
101 Q124 H| 89,348 84,907 4,441
J| 35,000
= 54,348




2M: 83
B FYLVE MY
Sl BAINZAL SY (MR 2FIHLSEEN) CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 89,348 84,907 4,441
OUS&X M=xY oY 89,348
—Jl=s 75,8003 x102 90 68,220
J| 35,000
s 33,220
- &5 75,8003 x 10 x 12 9,096
—dx=g 75,8003 x10H x4 3,032
— WSl 2,000 *10H 902! 1,800
— = Al 4,0003 x10H 90 3,600
—HERES 120,000 10 »33| 3,600
201 Let24E] 9,344 9,344 0
01 At 22l 4,100 4,100 0
O8N =ZZLIHEE AT =3
50,000& x103l 500
Ol ®RA&e&8 22, HS S
300,000& »12& 3,600
02 =224l 5,244 5,244 0
OsX&els 8834 0/&8 310,000& 122 3,720
OsX&el8 BIAANER 127,000& =128 1,524
206 M= Hl 8,000 0 8,000
01 M= 4l 8,000 0 8,000
248 ABEXN == S A M 40,000& 200 8,000
401 Al HI YL 2 THYI 509,000 262,000 247,000
J| 25,000
s 484,000
01 A& HI 509,000 262,000 247,000
O=24 o3& X e &
10,000,000 *2J4 2 20,000
O=24 835X 23 A 5,500,000& 4= 22,000
J| 10,000
s 12,000
O2¢4 UIB&X RUHIM4SEAAE XA
15,000, 000& »3CH 45,000
O2¢ UIBsX FYZAZ S FHISA
20,000& =1, 100m’ 22,000
J| 15,000
s 7,000
O24 USSR X ANESAM
800, 000& *500m 400,000
MSBRANY B2 (NotE S2HHLSLEIH) 336,289 313,320 22,969
J| 279,250
s 57,039
Al lg2e (s sEH7H)-2L 182,868 197,937 A 15,069
J| 137,300
s 45,568




2M: 83
B gyLBeANY
thel: A 22 (22 BNLSESH) (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
101 14 Hl 165,968 181,637 A 15,669
| 127,300
s 38,668
03 3R (RINAHY)2ZNHES 105,674 152,630 AN 46,956
Osds >Z2ZANIAZS(SB) 105,674
- 1455(1%) 47,957
2s 2,568,720& x1H «x12& 30,825
| 30,825
- s Al 140,000& 1H 128 1,680
| 1,680
- IESY 40,0003 x 18 128 480
| 480
A=< 103,683& x1H 10 1,037
J| 1,037
Aztel 2eag
19,4413 %27 5A 2t x 1B+ 12& 6,416
| 6,416
= 103,683& 1. 5x1H x 12 1,867
| 1,867
- BE SOt 2,568,720 x60%* 1H »23] 3,083
J| 3,083
-EH25Y 2,568,720 *50%* 1 »23| 2,569
| 1,637
e 932
—-95=(19) 45,717
-JlE=s 2,441, 7203 x1H « 123 29,301
| 29,301
- gAY 140,000& 1H 122 1,680
J| 1,680
- IESE 40,0003 x 18 «12& 480
| 480
G PUESS= 98,822 x 1 10 989
| 989
- AZER 2RE
18,529 x27 .5A| 2bx 1 x 128 6,115
J| 6,115
- RY2RE 98,8223 1, 5x1H 12 1,779
| 1,779
- HEFOHYI 2,441, 7203 x60%* 1 »23| 2,931
| 2,931
-EH2SH 2,441, 7203 *50%* 1S 23| 2,442
—HERES 500,000& x2H 128 12,000
M4 JI2ZHZEXNSES 60,294 29,007 31,287
O8Ys =ZLANIAES(29) 60,294
= 75,8003 x2H x246 37,294
| 37,000
[ 294




2M: 83
E: FHLBLIAY
thel: A 22 (22 BNLSESH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
-5 75,8003 x2H x52 7,884
—HxX=g 81,8003 x2H 12! 1,964
— WSl 2,000 x2H x246 984
— M Z A 4,000 x2F 246 1,968
— HE SOty 300,000& x2H x23| 1,200
—H3RE2 350,000 x2H x12& 8,400
—sEZANEcEEIE 7Y
300,000& x2H x 13| 600
201 Let24dy] 16,900 16,300 600
| 10,000
[ia 6,900
01 At 22l 4,440 3,840 600
O2Es =gd? &=L 2l
8,000& x8H 60 3,840
J| 2,000
s 1,840
O+Z2NE 2E8 II=Z7Y
300,000& x2H x 13| 600
02 8323l 12,460 12,460 0
O==ZZAXYE RA22idl 12,460
—NsSiH ¥ B 1,000, 000& 14 1,000
J| 1,000
—SF0 700,000& x1CH*12& 8,400
| 5,000
e 3,400
—ESZNERE S 30,000 »1CH 23] 60
— S Xl &2l 250,000& »12& 3,000
| 2,000
= 1,000
A@AZA XS 22AS (=EIAAIY) 77,000 67,000 10,000
| 77,000
206 T2 HI 37,000 37,000 0
| 37,000
01 =8l 37,000 37,000 0
O8gs =HEZ &A MM X2
370,000& 100 37,000
| 37,000
308 XXM S0 A 40,000 30,000 10,000
J| 40,000
11 S 2 SOCHEE & X E A HI 40,000 30,000 10,000
Osa BERMYI 28HH el
200,000 x200& 40,000
| 40,000
FOX2AY Ot & BRI (SZ) 76,421 48,383 28,038
J| 64,950




2AM: 2F
B gyLBeANY
Cel: AR el (M =HINLAEESH) (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
o 11,471
101 1Al 68,521 40,483 28,038
J| 57,050
= 11,471
03 SR (RIHY)22NE S 42,689 40,483 2,206
O=879 FOUXIAY ZelAIAE 2e|ol™
23 42,689
—Jl2=26ss 18) 2,243,9703 x1¥«12€ 26,928
J| 26,928
— dA=al 140,000 1« 122 1,680
J| 1,680
- &= 200,000 x1H =123 2,400
J| 2,400
—52dZ2RE 91,2533 *1.5x1H »x1 137
PN 91,2533 x1H »102! 913
— A2tel 224y
17, 1103 = 15A1 2t < 1H « 128 3,080
J| 3,080
— S E =t 2,243,970& »60%* 1 »23 2,693
J| 2,693
—32=4 2,243,970& »20%* 1 »23] 898
J| 898
—HERE=S 330,000& x1H » 123 3,960
04 0I2ZtHZ22 S+ 25,832 0 25,832
=HIAA FOXJAY 22/FE XA 25,832
—Jlzs 73,2803 x6H x40 17,588
J| 17,588
— =S4l 4,000 «6H x40 960
J| 960
— WSl 2,000 x6H x40 480
J| 480
- =54 73,2803 x6H x5 2,199
J| 343
a 1,856
—E XY 79,2803 x6E * 12 476
—522RE 73,2803 x4 6 1,759
—HERES 395,000 x6H 13| 2,370
201 LEt2 A | 2,680 2,700 A 20
J| 2,680
01 At 22l 1,680 1,700 A 20
OFUXNIAMY F& 22F ANEES 2L
20,0003 x84 & 1,680
J| 1,680
02 232gHl 1,000 1,000 0
OFUXEAY =& U2 €8 RERS
2,500& *4002] 1,000




SN 22D
B FYLVE MY
el AR BRINS el (Mot

2 23N

rx
Jm
e
fon
=

SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
p 7000
202 01t 5,220 5,200 20
p] 5,220
01 2Lh 018l 5,220 5,200 20
OFUTFAY = Af) 2 (5)
20,0002 *3% 872 5,220
p] 5,220
LHUSYRAMNY (VAR 2BHLSEEH) 140,170 149,985 ~9,815
p] 140,170
QoEIANY(2Y) 77,170 86,985 ~9,815
J| 77,170
207 ST LB 77,170 86,985 ~9,815
J| 77,170
EEEET 77,170 86,985 ~9,815
O'22d +EHESH WEAZAL SUEH
2(232) 23,000,000 * 141 23,000
p] 23,000
O21d +EHEHH 01BYIHSY)
54, 170,000%! * 141 54,170
p] 54,170
sEYETV(LTY) 63,000 63,000 0
gl 63,000
207 &1 7N L bl 63,000 63,000 0
p] 63,000
01 @Byl 63,000 63,000 0
O'22d +HQAZLH2| WEALAL DU
(T 18,000, 0002 * 14! 18,000
p] 8,000
O21d +EEESH OIFHIHLTY)
45,000,000 * 144 45,000
p] 45,000
LSBT FOIX B MY 1,379,424 1,506,828 A127,404
bl 1,273,059
2 106,365
BEIHY FOUXNBMY (MU +BHLSHH) 1,379,424 1,506,828 A127,404
p] 1,273,059
2 106,365
BRAHEFUNA (2B DY FOUNAALY) 1,143,059 1,206,828 £63,769
p] 1,143,059
301 LU BHD 11,945 0 11,945
p] 11,945
09 #AAIHIXI 2 2 11,945 0 11,945
O7= 02 Si0ioY Setsn 25 X2
1,232,000 *14) f,232
p] 1,232




2M: 83
M Lupo FUNAAY
Sl PRlHE FON/ANY (MR L2THLSHH) CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
O&Jtet IS AF 23l XI&  821,000& 14! 821
J| 821
OZXi0rS steEd A W=l 9,891,810& »14! 9,892
J| 9,892
401 Al HI R 201 I 41,569 12,396 29,173
J| 41,569
01 A& Bl 41,569 12,396 29,173
ONS0ts et ZE A 4,300,000 =14 4,300
J| 4,300
OXs0S 2 EE ZA 1,100, 000& 14 1,100
J| 1,100
OXES0ts AL ZE A 6,000,000 » 14! 6,000
J| 6,000
OXZ0IE s2EE ZA 2,208,000& x 14! 2,208
J| 2,208
=d0IS AUE d=22 AZSA
4,801,000& %14 4,801
J| 4,801
OSX0tE MUE a2 AZSA
12,521,000& 14 12,521
J| 12,521
OLX0E MUE =2 AZSA
4,200,000& * 14| 4,200
J| 4,200
OUTEOIE NMUHE a2 HZIA
2,843,000 x 14! 2,843
J| 2,843
Od=0IE NMUE =2 HZSA
3,596,000 » 14! 3,596
Jl| 3,596
402 RI2EX 20| ™ 1,089,545 1,190,569 A 101,024
J| 1,089,545
02 It 2 AL EZ (OIS ) 1,089,545 1,190,569 A 101,024
O==H AT A 1,089,545
— 2t X2 AL 518,015,000& =14 518,015
J| 518,015
— IR 1,006,214% 568X 571,530
J| 571,530
+HIA FOUXIAL(SEXE) 236,365 300,000 A 63,635
J| 130,000
s 106,365
401 Al HIZ 201 I 236,365 300,000 A 63,635
J| 130,000
s 106,365
01 A& HI 235,514 298,920 A 63,406
Ogd ass =& 01822 A
236,364,000% *99.64/100 235,514
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uilEd
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Ov v 0o [ee]
o W0
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aor
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o
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>
E 0l & A == I A
20228 204 et SEHINLSESH &
SN ASRED
g FH=2CMS
¢elr BHIxALE SE (M2 HSEE3)(8etZ = 313) cet )
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aot=S Dt 16,369,295 15,028,319 1,340,976
= 3,806,000
J| 2,488,000
s 10,075,295
FE =2 AY 14,203,961 12,939,225 1,264,736
= 3,454,000
J| 2,488,000
[ia 8,261,961
BAIIZAE (B2 SE3AH)(XZ = 8,430,322 8,100,881 329,441
ANLEL3IAH)
= 3,454,000
J| 735,000
e 4,241,322
ot=2t)1 BTL & Xtz XI& 2,508,760 2,507,650 1,110
= 1,440,000
| 511,000
i 557,760
201 Lt 3,760 4,650 A 890
01 At 2t 2l 3,760 4,650 A 890
OBTL &8I 21 2+
188,000& »5H *43] 3,760
402 BI2EX=0| M 2,505,000 2,503,000 2,000
= 1,440,000
| 511,000
s 554,000
03 212t & AL S HI 2,505,000 2,503,000 2,000
OBdk==2t 1 Z HIBTLAF Itz
2,079,000, 000& 14! 2,079,000
= 1,440,000
| 511,000
e 128,000
Odt=2t 1 ZHIBTLAIY 22 Hl
106,500,000& 42 | 426,000
ot=2t2 Hi==&Hl ZX A 360,000 390,000 A 30,000
401 Al HIZ 201 I 360,000 390,000 30,000
01 A& HI 360,000 390,000 A 30,000
OS82 ot=2Z2(==&Hl) FHIAL
3,000,000 *400H 2~ 120,000
Odrd ot2Z( Hl) HHIAY
3,000,000 *400H 2~ 120,000
OXIFATHR St=Z=Z (UH=&Hl) ZHIAS
3,000,000 *400H 2~ 120,000
ot=2t=2 FHdl - XA 1,790,905 1,965,920 A 175,015
401 AIEHIZL 2] 1,790,905 1,965,920 A 175,015
01 A& HI 1,784,480 1,965,920 A 181,440




SA: MBS
M FESDULAMY
ol HAINZAL FS(MARLIWLSLHN) (DU +EHLSB5) (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Oz E=0I2 o222 EH ALY
300,000 *333.333m 100,000
Ot EH Allel olE=22 HUIAZE (2XHE)
300,000 666 .666m 200,000
O824 430tlS o222 EHH ALY
400,000 *750m 300,000
OQdt=Hel & Jlsdaad (e Hs)
10,560,000 *2JH 2 21,120
OdtE=Xel & J=dHdESI (00l ALY 2, THAH
10,560,000 *2JH 2 21,120
Qbdlt=Hel & Il (otA o k)
10,560,000 *2JH 2 21,120
OdtE=HXMel & J=dcdEs8d (&ot3, 24X)
10,560,000 *2JH 2 21,120
OXFFXM2IHE HEAMB(EIX getol E)
25,000,000& = 14! 25,000
OBSHE UMY (ATR o 4+FEHDT &
X S) 45,000,000 =14l 45,000
O%ItHelE HEHAI (=22l DM S)
100,000,000 =14l 100,000
O&otHel & HUAMPE (YL WA S)
60,000,000 = 14! 60,000
OLZE o222 A2 & 2232 Z2A
400,000 *1,250m 500,000
Obdt=HEl & ol=22 2238 & =&AY
3,000,000 *80JH &~ 240,000
OWME L 322 CCTVEAIE FUIAY
130,000,000 =14l 130,000
03 Al&E 201 Y| 6,425 0 6,425
Oodt=&=2 HYIAY 1,784,480,000& *0 . 36% 6,425
SOHZE OIS0t S EHIAMY (A2 XAIEE) 250,000 732,000 A 482,000
= 208,000
J| 24,000
= 18,000
401 AlEHIZL £ 0HY| 250,000 732,000 A 482,000
= 208,000
J| 24,000
= 18,000
01 Al&EH| 250,000 732,000 A 482,000
OA=NAMNEHE sHEOISoIx== EXZ2AH
250,000,000 « 1Al 250,000
= 208,000
J| 24,000
= 18,000
SHE0IS0HESE ZHAISE(RE) 272,695 183,311 89,384
= 137,000
= 135,695
401 AlEHIZL £ 0HY| 272,695 183,311 89,384




2N Mot
B FYLVE MY
Sl BEIEAL HB(DABLFHLSHIN)(FAZ +BHLSH3H) (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 737,000
= 135,695
01 Al&H| 270,746 182,000 88,746
ORE sOHE0ISolx=x X Z2A
270,746,000 « 1Al 270,746
=2 137,000
= 133,746
03 AlE 20| 1,949 1,311 638
OFE sHEOISot=T XAt
270,746,000 «0.7198% 1,949
Notxa =5 Gl=22 HHIAY 937,962 1,000,000 N 62,038
2 469,000
= 468,962
401 AlEHIZL £ 0HY| 937,962 1,000,000 N 62,038
2 469,000
= 468,962
01 Al&H| 932,090 993,700 A61,610
Oflotz2 =22 HH|Z2A
932,090,000 « 1Al 932,090
=2 469,000
= 463,090
03 AlE 21| 5,872 6,300 N428
OXOHE =SHZ FHIBA
932,090, 000 «0.6299% 5,872
St E EHEAIY(ROHESA) 1,000,000 0 1,000,000
2 500,000
= 500,000
401 AIEHIZL 2 0HY| 1,000,000 0 1,000,000
= 500,000
= 500,000
01 Al&H| 993,700 0 993,700
Ofxlot Z26EHElAlE SEAY
993,700,000 « 1Al 993,700
= 500,000
= 493,700
03 AlE 21| 6,300 0 6,300
Ofxlot Z26EHElAIE S EAY
1,000,000, 000 *0.63% 6,300
OLLEZUZAEHIAMY (=2 2FH|(2EHH)) 480,000 0 480,000
= 400,000
= 80,000
401 AlEHIZL 2 0HY| 480,000 0 480,000
= 400,000
= 80,000
01 Al&H| 476,544 0 476,544




2N
X ZH -
L= B

el

N
HHYLBRIANY
HEIIZAE HB(DQ

SA-EHB - BAEH) - NRAY - BES 0l & o il HIDE2
OXlotz =22 HUIALY (2& )
476,544,000 14! 476,544
= 400,000
= 76,544
03 Al S THHI 3,456 0 3,456
OXlotz =22 HUIAL (2&HH)
480,000,000 *0.72% 3,456
St HUIA (2H 2L 430,000 0 430,000
= 300,000
= 130,000
401 Al HIZ 201 I 430,000 0 430,000
= 300,000
[ia 130,000
01 A& HI 426,904 0 426,904
O o222 MEAY
426,904,000 * 14! 426,904
= 300,000
= 126,904
03 Al 2 THHI 3,096 0 3,006
ORAFY ot=22 MLAMY
430,000,000 *0.72% 3,096
=AY =OUXAMS(SEEX) 400,000 0 400,000
J| 200,000
s 200,000
401 Al HI R 201 I 400,000 0 400,000
J| 200,000
[ia 200,000
01 A& HI 400,000 0 400,000
ONFEY HAS0IE 44T BIAY
400,000,000 =14l 400,000
J| 200,000
s 200,000
BAIIZAE 2L (B2 SHNLSESH ) (M2 5,773,639 4,838,344 935,295
SENESE3H)
J| 1,753,000
s 4,020,639
BAJZANERY KA (2) 4,080,338 3,520,433 559,905
J| 1,752,000
i 2,328,338
201 et 712,620 761,848 N49,228
J| 409,020
s 303,600
02 2324l 712,620 761,848 A49,228
Ol IZEot=HelAld HEH|
9,000,000& «12& 108,000
J| 86,400
= 21,600




SA: MBS
HE: HELBIAY
Sol HAINZAL SY(HAR 2BNLSHIH)(NAR LBHLSB5) (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
O8E33dt=XelAlg A&
2,885,000 x12& 34,620
J| 34,620
OARZotHMelAE (A S 29014 ) & &
30,000,000& x12& 360,000
J| 288,000
i 72,000
Oot=HMelAd S8 dE3MdH(HdH S 3
0o &) 10,000,000& = 12& 120,000
Odt=HMelAld SHEEZY & Wt 2128
%= (3000 &) 2,000,000 *300H 2 60,000
Oot=2t2 22 E(300H2)
1,000,000 *300H 2 30,000
307 glz2tol & 2,959,718 2,355,585 604,133
J| 1,335,980
s 1,623,738
05 RIZHRIE 3 2,959,718 2,355,585 604,133
O23ct=XMlAld 2LAAHI (S L) 2,959,718
~BTtaHUANL 2Y ASFU (B
) 1,248,093,000& 14! 1,248,093
J| 612,600
[ia 635,493
~ BT aHUANL 2Y ASFU (BL-8E
) 166,380, 0002 14! 166,380
J| 166,380
~2BEALHAANL 2 ASAH (I L-2 7
D 280 4) 1,545,245,000& 14 1,545,245
J| 557,000
s 988,245
402 RI2HR20l ™ 408,000 403,000 5,000
J| 7,000
s 401,000
03 212t EF AL HI 408,000 403,000 5,000
O33ot=HMalAlE AEMNE (Hx=dH-32) 408,000
—33otHelAlE AEE a8 (32~
otz Z1A) 22,000,000& =14 22,000
—33otHelAlE AEE a8 (32~
LR 242) 386,000,000 =14 386,000
J| 7,000
fia 379,000
St=XelAlE 23 - XAl 1,689,337 1,313,892 375,445
101 1A Hl 1,309 1,683 A374
04 JIZHHZ2Z2XNSE S+ 1,309 1,683 A374
OZ3ot==Xeld =2 A 2 1,309
—Jl=s 75,800 *1H x4 x4 3] 1,213
= Al 4,000 1«42 +43] 64
— WSl 2,000 *1H x4 x43] 32




SN ASRED

M FESDULAMY

Sl BEIEAL SY(WAR SEWLSEEN ) (DA +BHLSEN) CERED
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@i HRE2
201 Bt 370,760 337,500 33,260
01 AP 22| H| 120, 160 120,400 A 240

O23dtsHeld 2el =]
8,000 x5H x 15U x12& 7,200
OZTot4+HAT AN 248
120,000 #4704 A %4 3] 22,560
OZ220t=Xxelzd 2l AUZTEIH(YL2UH)
=3 85,000,000& = 14! 85,000
OBt +H2IBYET ALY
120,000& x9H x5 3| 5,400
02 2224 H| 250,600 217,100 33,500
Ost=24adt=Egaldl (ol=%)
2,200,000 *13] 2,200
OARDBIE=X2IAE(RQ2 S 1600 A )N = H
13,000,000& x12& 156,000
OdtE=XMeAE S22 238 (d82-A
2 160HA) 2,700,000 12 32,400
Obt=HEAIE SHEEE L JItE=Z 2138
2= (2000 &) 2,000,000 2004 &~ 40,000
Qbdla=2=2 20128 (200HA)
1,000, 000& 200 & 20,000
202 o4 | 8,000 8,000 0
01 2Ll 8,000 8,000 0
O23otx=Hel & 2g2el AeEA
20,000& x5 »80 8,000
307 212t0| & 1,022,268 756,709 265,559
05 QIZ2t &2 1,022,268 756,709 265,559
OARDEIE=HEIAE 29 AEZH (A& 2-4
H216MA) 1,022,268,000& 14! 1,022,268
401 Al HI L 2 04| 140,000 60,000 80,000
01 Al&H| 140,000 60,000 80,000
OXorEBZole=XMeld MsA2e 4
80,000,000& = 14! 80,000
QX2 ZotEHel & =22 AFAIAE (TMS) TOC
ZH DD 2 60,000,000& x 14! 60,000
402 SI2tXHE0| ™ 147,000 150,000 A 3,000
03 QI2t | EFAFE HI 147,000 150,000 A 3,000
OZ220ta=HelAlE AMEMA =& (8-
A2 8AH) 147,000,000 14! 147,000
olZ&X(st=Xel &) A=el 3,964 4,019 A bBh
J| 1,000
= 2,964
101 e1214| 1,964 2,019 A bBh
J| 500
= 1,464




2A: ot 1t
N2 =22 A
chel: SFIIEAlA 2 LEMASEEAN) (R 28 o) (S &2)
5 - 4
M- B8 a2 (3) - HEAY - BAS %@i HD=2
04 J|2HHl 24 1,964 2,019 oY)
ooz ZHA oA 1,964
— J| 75,8003 x2H 4 %33 1,820
J| 500
= 1,320
— 24l 4, 000) *2H x4 «33] 96
— st 2,000 *2H x4 *33| 48
201 2oty 2,000 2,000 0
J| 500
= 1,500
02 E2=224%H| 2,000 2,000 0
OelZsX SN2 (SHXNMA, HB2E B
9 HMIR= S) 2,000,000 =14l 2,000
J| 500
= 1,500
A LAY (A 665,334 589,094 76,240
= 352,000
= 313,334
JI=AAE & = FAINHELESH) 624,000 536,000 88,000
= 352,000
= 272,000
ot 2t2 A H|AFH ( ) 220,000 0 220,000
= 150,000
= 70,000
401 A& H| 220,000 0 220,000
= 150,000
= 70,000
01 Al& H| 218,416 0 218,416
QxR OFEZR AMAAY
218,416,000& » 1Al 218,416
= 150,000
= 68,416
03 Al&EE 1,584 0 1,584
O &I ot OFEZR AMAAS
220,000, 000& *0.72% 1,584
SsSOHE Ofsola=% HIAF (A EH) 404,000 0 404,000
= 202,000
= 202,000
401 Al & H| 404,000 0 404,000
= 202,000
= 202,000
01 Al& H| 401,091 0 401,091
OXE sHEDISoteE 88X Z2Al
401,091,000 1Al 401,091
= 202,000
= 199,091




SA: MBS
B HELDANY(HTY)
Sl BEIZAL HB (VAR SPWLSEEN) (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
03 Al&E 201 Y| 2,909 0 2,909
Ode sHEOISolx=% X Z2A
404,000, 000& x0.72% 2,909
SHAIZAYE 2 (Rt SEIPHELHSH) 41,334 53,094 A 11,760
25 ¥ 24Heal 41,334 53,094 A 11,760
201 et d| 10,484 12,244 AN 1,760
01 AFR 2t 2| H| 4,000 1,000 3,000
OMelotE=HHelAlE £E22BA =2
50,000 *2004 &~ 1,000
Oti=&H|l 2510l FOAAMSH(2H4 S
EEMSX HE 3,000,000 =14l 3,000
02 =224 H| 6,484 11,244 AN4,760
OJMelotx=XHelAld T2 KA E4H|
307,000& x12& 3,684
OMeIGtEHeIAIE WEBEEA tUHE 2s
4003 *3,50000 & *23] 2,800
402 SI2vXHE0| ™ 30,850 40,850 A 10,000
03 QI 2t EF A HI 30,850 40,850 A 10,000
O-HMel HdEdX nE2(6HE)
,500,000& *10/100 850
Oa 2% 26t Hel =42 QI AFSHI(
JHOIaEEH 2l Al & )50,000 =1, 20091 £ x50/ 100 30,000
e 2el 1,500,000 1,500,000 0
olgldl (&lotz2 SEINHEEHSH) 1,500,000 1,500,000 0
HHIHI(ERMHAELHSIH) 1,500,000 1,500,000 0
801 oyl dl 1,500,000 1,500,000 0
02 XHGH - XHLH= = 0dldl Bl 1,500,000 1,245,700 254,300
OTHal X H= &= 0l 1l d] 1,500,000,000& 1,500,000




